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1 fhHEER 41 45 | 86 12.4 173.6

2 & 42 43 85 11.2 73.8

3 WEES 38 39 77 2.8 T4.2

4 B FR 52 52 104 29.2 74.8

5 HFIE 41 44 85 10.0 75.0

6 Ak 51 45 96 20.8 75.2

7 P EIEE 40 43 83 7.6 75.4

8 Wy A 44 50 | 94 18.4 75.6
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12 P HIERE 43 46 89 12.4 76.6

13 HEFHEL 43 45 | 88| 11.2 176.8
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16 Bl 4R ek 40 50 90 12.4 77.6

17 _FHFREE 46 46 92| 13.6 78.4

18 Rl YA 47 49 96| 17.2 78.8

19 W EEfR1 52 52 104 24.4 79.6

20 LK 44 46 90 10.0 80.0

21 FRBEE = 45 52 97 16.0 81.0

22 FHFEF 56 56 112 29.2 82.8

23 JEAHEK 59 51 110 26.8 83.2

24 HHEDE 53 46 99 14.8 84.2

25 B HEEA 51 62 113 25.6 87.4

26 FEELT 62 53 115 23.2 91.8




